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Common Quarteryy gxamination - 2024 aomsa

-St:am-,lal‘d 11

~ Time: 3.00 Hours MATHEMATICS Marks: 90
| R PART-I N .
1. Choose the correct answer . . " 20x1=20
| 1) If n[(AxB) (A x C)] = 8 and n[B N C]=2, then n(A) is ~
a) 6 b) 4 ’ .c) 8. S ody1e
2) Therule f(x) = x?is a bijection if the domain and the co-domain are given by
a)R,R - b) R, (0, )" ©) (0,=), R d) [0, «); [0, =)
3) Let R be universal relation on a set X with more thanv'one element. Then R'is
a) not reflexive b b) not symmetric
¢) transitive | d) none of the above
. 4) If |x+2| <9, then x belongs to A '
| a) (=os,~7) b) [-11, 7] €) [-,=71U[11, ) d)(-11,7)
5) The number of solutions of x2+|x-1|=1s . )
a)1 b) 0 - Q)2 a3
6) If-log . 0.25=4, then the value of x is o _
a) 0.5 b) 2.5 : £ D& 9 d)1.25
7) If cos 28° + sin 28°=k3, then cos 17°is equal to - |
S 3 K3 : K : K3
8) cos 1° + cos 2° + cos 3% + ..iiiinns + cos 179° = 4~ ,
a)o b) 1 cy =1 d)_89
9) In 3 fingers, the n_umber of wa_ys four rings can be worn is ........ - ways
a)43 -1 b) 34 c) 68 d) 64
10) If "C,, "Cg, "C, are in A.P, the value of n can be -
a) 14 ; b) 11 L c)9 - d) 5 v
11) In a plane there are 10 points are there out of which 4 paints are collinear,
then the number of triangles formed is N
a) 110 b) 10C, V€120 i d) 116
12) The number of five digit telephone numbers having atleast one of their digits
repeated is L% | :
a) 90000 b) 10000 ~¢) 30240 - d)69760
13) If a, 8, b arein A.P, a, 4, barein G.P and a, x, b are in HP then x is
ay2 - b1 BN K TR © d) 16
14) The sum upto n-terms of the series v2 + V8 + /18 + /32 +.....1S
' : n(n +1
a) ____n(n2+ ) b) 2n(n +1) c) (\[5 ) d) 1
B : 1 713,19 :
15) The yalue of the series - +Z i AT s
a) 14 "b)7 | )4 | d) 6
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16) The co- eff“cuent of x8y12 in the eXpans'On of (2x+3y)20 is

17)

18)
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a)o _b) 28312 . ©) 28312 4 1238 g 20C, 28312

The slope of the line which makes ol angle 45° with the line 3x—y——5 are ' .
a)1, -1 o) Y5.-2 9L g 2, S AN
The equation of the line with sloP€ 2 and the length of the prependlcular |
from the origin equal to./5 is

A)x+2y=y5 " b)2x+y=5  O2x+y=5 - .. d) x+2y= 5
The area of the trlangle formed bY the ""es X2‘4Y2 0 and X=ais

a)2a2 . b) £a2 3 . C) %a-z

ji -". d) \/_az

If one of the Ilnes glven by 6x2—xy+4CY2*0 IS 3x+4y= 0 then c equals tO

ca-3 . b) 1_‘ e 3. dil

" PART* iax-

II Answer any7quest|ons Q.No: 30 is compulsory K afl 7x2 14

21)
22)
23)

24)

_25)
" 26)

27).

=y
29)

f:N—>N defined by f(n)= n+2 check whether f is one-to- one and onto
Solve: |2x -3| = |x -5| : SR

Find the values of p for. Wthh the dlfference between the roots of the
equation x2+px+8=0is2. | 4

Find the value of tan 165°. R " ,

Find the area of the tr:angle whose sudes are 13cm, 14cm and 15cm

:In how'many ways 5 persons can be seated in a row?

If nC12— C find 21C

X

: : 10
ré o O, Sk
Find the co-effi cient of x15_ in (x* +_3]
The slope of one of the straight lines 5’)<2"'2|"><Y+by2 -0 is twice that of the

- other, show that 8h?=9ab.

If the two straight lines x+(2k 7)y+3 O and 3kx+9y—5 O are perpendlcular
then f|nd the value of k " , . .

PART - III s

III Answer any7quest|ons Q.No:40is compulsory LR 7x3=21

- 31)

32)
3'3)

- 34)

© 35)

 36)

-On the set of natural numbers let R be the relation defined by aRb |f 2a+3b=30.

Write the relatlon by hstmg all the pairs. Check whether lt is equuvalence

If log, x +log, x + Iog16 X —% ﬂnd the value of X .-

Prove that tan (A + 6?) tan(%,— 9) = 2 tan 26

Solve: sin 5x-sin x= Cos 3X .
In how many ways 5 boys and 4 girls can- be seated in a row so that no two

- girls are together
‘Write the flrst four terms of the Iogarlthmlc series Iog(1+4x)
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37) Expand: [Zx 2x] R 2 '

38) Find the equations of straight lines hich are pe"pe"‘dlCl-llar to the Ilne 3x+4y 5 0
and are at a dlstance of 4 units from, 2

www.Tranpsc.com

39) Rewrite Bx+y+ 4= ointo normal fol’m
How many triangles can be formed bY: J°'"‘“9 15 points on the plane, in

40
) whuch no nneJoining any three points
, ; PART_‘IV e . PR
IV Ancwerallthequestlons. o - . . 7x5=35
41) ‘Write the values. of f.at 3 5,,2 ~1, 0 'f e
X2 +x-5 if xe (o, 0) |
F(x ) jx +3xX -2 |er(3oo)
Tk ifxe(20) -
| x-3 otherwu_se , R W ¢ N .
LA R (OR) N

y 12x+16y 12= Orepresentsapalrof

| 2_24xy+16
Show that the equatlon 9x Y en them

parallel lines. Find the dlstance betWe

42) If the equatlon x2—ax+b (o and x2—ex+f—-0 haVe one root in common and |f
it sthe. second equat:omhas equaJ roots; then proveethat ae= 2[b +: f]

(OR)

_Prove that: 32J§snn” 8cos /8605 24COS”12cos”6 3

-'43.) Show that tan 750 A+ cot 75o =j4 > o
o (OR)

By the prmcnple of mathematncal Inductlon prove that for aII mtergers n>1

: ' Y W nn+1 2n+1
~112+22 +32+....> ..... +n2 ( )6( )

: .44) If the Ietters of the word GARDEN are permuted in all p055|ble ways and the
.- strings thus formed are atrfanged in the dlctlonary order, then find the rank.

. of the words (l) GARDEN (u) DANGER

(OR)
- _Fin‘d 3/5_5 o
| 45) The A.Mof two numbers exceeds theur GM by 10 and HM by 16 Flnd the ,
numbers . » _ PE : _
. (OR)-
74X

- Resolve mto partlal fractlon P R TY
) . K¢ +x)(1+x )
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46) Find the equatuon of the locus oth';e Point p such that the line segment. AB
Jommg the points A1, -6) and ~2), S‘JbStends a rlght angle at P R

(OR)

\

If f: R—>R is deﬂned by f(x) 37"5 PFOVe that fisa bIJeCtIOI'l and flnd |ts-_~'

inverse

' ,. .'l N
sm 5% — Zsm 3x+SIn ‘= 'Canx I
‘ cos 5x COoS'X | :

47) Prove that
(OR)

CFind G if SX P =655 P - e gt

4 o 5 -
.. 1 ot
A . = e
i ‘ §
e S
; ) [&)
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¢ " '
L " :
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ol :
- -4

WIN MATHS TUITION
V S. GILBERT SAMUEL M.SC., B.ED.,
B ~ PALAYAMKOTTAI, TIRUNELVELI.
S 7092822092

Klndly Send Me Your Study Materlals To Us Emall ID padasalal net@gmall com

emd T e



https://www.padasalai.net/
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

